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Q1) Draw the reactance diagram of the system which has the following

- Bus Admittance Matrix: [10]
j13 8 ia
Y= |j8 12 4
ja i -j8.8

Q2) A 60 Hz,3-ph cylindrical synchronous generator has the following

‘/_ parameters:  Ls=2.77 mH M=31.7 mH
/ M;=1.38 mH Ly=434 mH
During balanced steady state operation, the armature and field current
are as follows: i,=20Sin (6, — 30°) kA ii=4 kA
Evaluate A, at 6, =60° [15]
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Q3) A 3-ph transformer 1At S MVA, (115 y/13.2 A) kv and per-phase
feeg 0 e e, .

through a
- - W - - T - - = T
transmission line which has a serie

I€s Impedance per phase of 0.102/78.7°
PU on a base of 10 MvA and 13.2 kv.

By using base values of 10 MVAand 13.2 kv:
i) Evaluate and draw the pu

o
7

impedance diagram of the system. [15]
ii) By assuming Negative  Sequence evaluate the py Primary voltage of the
transformel_'. VA '
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Q4) A 3-PH transmission line is Qgg}m%long and having the following
parameters: A= D=0.818/1.3°, B= 172. .2/84.2°, c=o0. 0001933@
Design a compensation network to be located at the receiving end in such
away to maintain the voltages at no-load | as follows:
V= 256.738 /20 15KV and VR-218/21 03 kv [20]
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